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INSTRUCTION TO CANDIDATES :

1. SECTION-A is COMPULSORY
TWO marks each. ~
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Total No. of Pages : 02

Max. Marks : 60

tonsisting of TEN questions carrying

)
2. SECTION-B contains FIVE questions carrying FIVE marks each and

students has to attempt any FOUR guestions.

3. SECTION-C contains THREE questions carrying TEN marks each and

students has to attempt any TWG guestions.

SECTTON-A

I. Write short notes on :

a} In a uniform laminar flow through a pipe what will be the ratio of

-

c)

(=%

¢l
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maximum veloeily to average velocity?

Define momentum thickness.

Draw the veloeity diagram for the laminar low in 4 pipe.

Define sequent depth.

Write the equation for velocity distribution in o rough pipe having

wrbulent low.

Define Froude number.

Linder what condition a channel section is considered to be the most

ceonomical section?

Define specific energy.

Classify the hydraulic jump based on (he Froude number.

Draw a neat sketeh ol S5 type ol profile,
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SECTION

Using the basic dificrential equation ¢
fviely is positive or My and 8y profilc

Water Tows at o uniform depth of 2 ¢
bottom width of 6 m und side slop
discharge of 63 m¥isee, caleulate the b

Use Manning's n — (L0235,

How will you classify hydrodynamic
pipe?

Water flows at.a steady mean veloe
diameter pipe sloping upwards at 4
some distance downstream of the inl
section 2. 30 m further from the secti
762 kPa. Determine the average shear

What are the causes which resull in s
SECTION

ta) A 3.0 m wide rectangular channe
velocity of (L8 misee I a sudder
upstream end of the channel caus
determine the absolute velocity of't

the new flow kate,

(by A hydraulic jump in a rectangular
the beginning of the jump F, = 5,
the end of the jump.

State and discuss the assumplion mac

for gradually vavied Tow. Also derive

gradually varied fow,

Determine the displacement thicknes

yelocity profile given by

5

17 . o imn
— =8N {FH/2)
iy

where w15 the [ree stream velocity,
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